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67. Collin is a hotel manager. He has 29 guests. 13 guests check
out in the morning. How many guests are still in the hotel?

68. Helga is riding on a cruise ship. There are 19 seagulls sitting
on the mast. 11 of the seagulls fly away, How many seagulls are left?
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69. Franklin is watching a family of 8 turtles in a river. If 3 of
them go back underwater, how many can he still see?

)
@\@ 70. Juliet has 24 roses. She gave 7 roses to her friends. How
ﬂ?‘%}“ many roses does she have left?
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71. Carter is having a snowball fight. He made 33 snowballs and
threw 12 already. How many snowballs does he have left?

stretching. How many minutes does she have left to exercise?
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lg 72. Perla has 40 minutes to work out. First, she spent 10 minutes




